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M. A. (Previous) EXAMINATION, 2021 

ECONOMICS 

Paper Third 

(Quantitative Methods) 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- [ksy fl)kUr D;k gS \ foLrkjiwoZd le>kb,A 

What is Game theory ? Explain in detail. 

vFkok 

(Or) 

fuEufyf[kr js[kh; izØeu leL;k dks xzkQh; fof/k }kjk gy dhft, % 

vf/kdre dhft, % 

1.5z x y   
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tcfd % 

2 3 6x y   

4 4x y   

rFkk                    , 0x y A 

Solve the following LP problem by graphical method : 

Maximize : 

1.5z x y   

Such that : 

2 3 6x y   

4 4x y   

and                                , 0x y .  

bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr vk¡dM+ksa ls dkyZ fi;lZu ds fo”kerk xq.kkad dks Kkr 

dhft, % 

vad ¼ls vf/kd½ Nk=ksa dh la[;k 
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Calculate Karl Pearson’s coefficient of skewness from the 

following data : 

Marks (above) No. of Students 
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vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa dh lgk;rk ls dkyZ fi;lZu dk lglEcU/k 

xq.kkad Kkr dhft, % 

x y 
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Calculate Karl Pearson’s correlation coefficient from the 

following data : 

x y 
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bdkbZ&3 

(UNIT—3) 

3- fuEufyf[kr iz’uksa dks gy dhft, % 

¼v½ ijh{kk ifj.kke ij fookg ds izHkko dk v/;;u djus ds fy, 

1]000 Nk=ksa dk ;kn`fPNd izfrn’kZ pquk x;kA bu 1]000 Nk=ksa 

eas ls 375 fookfgr rFkk ‘ks”k vfookfgr FksA fookfgr Nk=ksa esa ls 

167 ikl gq, rFkk vfookfgr Nk=ksa esa ls 203 Qsy gq,A 

mi;ZqDr vk¡dM+ksa dh ukS&oxZ lkj.kh esa O;ofLFkr dhft, rFkk 

fjDr LFkkuksa dks Hkfj,A 

¼c½ ^xq.klEcU/k* ij ,d fVIi.kh fyf[k,A 

Answer the following questions : 

(a) A random sample of 1,000 students was taken for 

finding out the effect of marriage on them. Out of these 

1,000 students 375 were married and remaining 
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unmarried. Out of the married students 167 got through 

and out of the unmarried students 203 failed. 

Arrange the above data into a nine-square table and fill 

in the blanks. 

(b) Write a note on ‘Association of Attributes’. 

vFkok 

(Or) 

fuEufyf[kr iz’uksa dks gy dhft, % 

¼v½ rk’k dh ,d xM~Mh dks QsaVus ds ckn ,d iŸkk fudkyk tks 

ckn’kkg ik;k x;kA mldks okil fd, fcuk nwljk iŸkk fudkyk 

x;kA nwljs iŸks ds ckn’kkg gksus dh izkf;drk Kkr dhft,A 

nksuksa iŸkksa ds ckn’kkg gksus dh izkf;drk Hkh crkb,A 

¼c½ ,d FkSys esa 3 lQsn vkSj 2 dkyh xasnsa gSaA nwljs FkSy esa 5 lQsn 

vkSj 3 dkyh xsansa gSaA ;fn ,d FkSyk ;kn`PN;k pqudj mlesa ls 

,d xsaan fudkyh tkrh gS] rks ml xsan ds lQsn gksus dh 

izkf;drk fudkfy,A 

 Solve the following questions : 

(a) Out of a well shuffled pack of cards, a card is drawn, 

which is found a king. Another card is drawn without 

replacing it. Find the probability of second card being a 

king. Also find the probability of both cards being 

kings. 

(b) A bag contains 3 white and 2 black balls. Another bag 

contains 5 white and 3 black balls. If a bag is chosen at 

random and a draw of one ball is made, find the 

probability of that ball being white.  
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bdkbZ&4 

(UNIT—4) 

4- dky Js.kh fdls dgrs gSa \ blds dkSu&dkSu ls izeq[k la?kVd gSa \ 

dky Jsf.k;ksaa ds fo’ys”k.k dk egRo crkb,A 

What is time-series ? What are its main components ? 

Explain the importance of time-series analysis. 

vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa ls fQ’kj dk vkn’kZ funsZ’kkad ifjdfyr dhft, 

rFkk fn[kkb;s fd ;g le; mRØkE;rk ijh{k.k rFkk rRo mRØkE;rk 

ijh{k.k dks larq”V djrk gS % 

oLrq 
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Calculate Fisher’s ideal index number from the data given 

below and show that it satisfies the Time Reversal Test and 

the Factor Reversal Test : 

Commodity 
1992 1993 

Price Quantity Price Quantity 
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bdkbZ&5 

(UNIT—5) 

5- fun’kZu dk D;k vFkZ gS \ blds dkSu&dkSu ls mís’; gksrs gSa \ U;kn’kks± 

ds p;u dh fofHké jhfr;ksa dk foospu dhft,A 

What is Sampling ? What are its objectives ? Discuss the 

various methods of selecting samples. 

vFkok 

(Or) 

,d&,d ,dM+ ds 15 [ksrksa esa nks izdkj ds [kkn dk mi;ksx fd;k 

x;k] vU; lHkh ‘krsZa leku jghaA mit ¼ÇDoVy esa½ fuEu izdkj gqbZ % 

[kkn I [kkn II 
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nksuksa izdkj ds [kkn dk iz;ksx djus ij mudh ek/; mit ds vUrjksa 

dh lkFkZdrk dk ijh{k.k dhft,A 
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Two kinds of manure applied to 15 plots of one-acres; other 

condition remaining the same. The yields (in quintals) are 

given below : 

Manure I Manure II 
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Examine the significance of difference between the  

mean yields due to the application of different kinds of 

manure. 
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